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19. Fancy Kingdom’s production possibilities frontier shifted to the right, this would illustrate
A. increasing opportunity cost; B. decreasing opportunity cost
C. economic growth D. recession
E. afall in resource utilization

20. NTUMC Inc. recruited and hired an accounting manager last month. The company had announced that the
Jjob were going to be offered to the candidate who receive the highest marks from both Accounting and
Taxation tests. NTUMC Inc. weights the accounting test score four times as heavily as the Taxation score
to determine the final marks, If the Taxation score is represented on the horizontal axis and the Accounting
score on the vertical axis, and if Luffy, one of the candidates cares only about whether or not he gets the
offer, his indifference curve is
A. aline with slope -4. B. a line with slope -1, C. a line with slope -0.25.

D. L-shaped. E. convex.

21. The following can be said about the income and substitution effects of a price increase on the demand for a
good whose price rose:

A. The former is always positive and the latter is always non-positive.

B. Both can be either positive or negative.

C. While the Iatter is always non-positive, the former can be either positive or negative.
D. While the former is always negative, the latter can be either positive or negative.

E. The former can at times be negative, but it will never overwhelm the latter.

22. Taipei Zoo produces a movie film "Sweet Dreams of Giant Panda Yuan Zai (& 1%), lowgring the cost of
advertising Yuan Zai toys. This is called a(n):
A, economy of scale, B. economy of scope. C. diseconomy of scale.
D. diseconomy of scope. E. learning effect.

23, Suppose there is a symmetric Cournot duopoly and firm ONE’s best reply is Q1(Q2) = 48,000 + Q2/2. Find
the Nash equilibrium revenue for each firm when the equilibrium price is NT$ 5.
AL NT$§720,000. B. NT$480,000. C. NT$240,000.
D. NT$120,000. E.NT$ 60,000.
3
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24, Given that eacil player believes the other is playing “tit for tat”, collusion can be sustained in equilibrium.
Collusion is more likely if:
A, interest rates are low.
B. the industry has a high probability of ending next period.
C. prices are adjusted less frequently.
D. the industry is shrinking rapidly in size.
E. income tax rates are high.

25. Cronyism was occurring at Natsu Inc.. Managers were hiring incompetent relatives for positions. Profits
became less than the industry average. Suppose One Piece purchased enough shares to replace
management in a hostile takeover. This is called:

A. labour market discipline. B. capital market discipline. C. product market discipline.
D. stock option discipline. E. adverse selection discipline.

26. The government can address by providing universal health insurance coverage and charging uniform

premiums.
A, expected utility. B. asymmetric information C. commodity egalitarianism.
D. moral hazard. E. adverse selection.

27. Suppose there are only two grocery firms in a longitudinal valley, From the perspective of maximizing the
consumer surplus, if consumners are equally spread out spread out in the longitudinal valley, where should
these two firms locate?

A. at opposite ends of the longitudinal valley (maximum product differentiation)
B. in the middle of the longitudinal valley (minimal product differentiation)

C. at 1/4 and 3/4.

D. at 1/3 and 2/3.

E. at 3/9 and 6/9

28. Fossil fuel power generation may be the biggest contributor to carbon dioxide emissions. Namely,
large-scale fossil-fuel power station has the strong potential to create air pollution. Why might this type of
pollution be considered an externality? '

A. The air pollution reduces the cost of large-scale fossil-fuel power generation.

B. The economic impact of a large-scale fossil-fuel power generating facility is localized in a small
geographic area.

C. The pollution has the potential for creating a health risk in the region swrrounding the fossil-fuel power
generating facility, :

D. Consumers will not reap the benefits of lower electricity bill from large-scate fossil-fuel power station.

E. All of the above.
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29. A Pigouvian tax is a tax applied to a market activity that is generating negative externalities (costs for
somebody else). The tax is intended to correct an inefficient market outcome, and does so by being set equal
to the negative externalities. This morning Thomas Lai, your classmate, made a few statements regarding
Pigouvian tax and tradable pollution permits, which of the following statements is incorrect?

A. Tradable permits can be politically easier to enact than Pigouvian taxes because the permits can be given
away to existing polluters for free.

B. The Coase theorem says that the equilibrium price of pollution depends on who gets the permits; the
price of pollution will be higher if the government auctions the permits than if it gives them away to
existing polluters

C. Permits are better than Pigouvian taxes when the amount of damage caused by pollution is fairly easy to
measure

D. Pollution permits are likely to achieve a given degree of pollution reduction more efficiently than a
“command-and-control" approach.

E. Some environmentalists may oppose pollution permits on the grounds that they are immoral because
they make it seem that polluting is all right as long as you pay a certain price.

30. Suppose a profit maximizing monopolist is able to engage in perfect price discrimination (meaning that
each unit is sold at a price equal to it marginal value) and faces a demand curve for its products given by
Q=60-0.05P. This monopolist has a total cost function of TC=72+4Q. How much will this monopolist's
profits be?.

A, $414, B. $318; C. $828; D. $900; E. §972

31. Assume that for Taipei publishers the fixed cost of printing and selling new English textbooks is zero. What
will happen to the equilibrium price of new English textbooks if fewer students attend college, paper
becomes less expensive, textbook author rovalty decreases, and more used textbooks are sold?

A. Price will rise. B. Price will fall. C. Marginal utility will become negative.

D. Bandwagon effect will become convex. E. Snob effect will become concave.

32. High-income people will sometimes pay higher prices at convenience stores for goods that are available at
discount stores. They do this because
A. people become less rational as their income increases
B. their productivity diminishes with the labor hour inputs
C. crowded and understaffed discount stores impose higher time costs
D. they are subject to moral hazard problems
E. they have less brand loyalty than low-income people
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